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QUESTION 1

In an SAP HANA database system running in log mode "normal”, in which situation does the system automatically
execute a regular log backup? There are 2 correct answers to this question.

A. When the log buffer is full.

B. When the time threshold is exceeded.
C. When the log segment is full.

D. When a commit occurs.

Correct Answer: BC

QUESTION 2

You need to install multiple identically configured SAP HANA systems in batch mode. Which installation parameter is
mandatory when you use a configuration file? Please choose the correct answer. Response:

A. sid

B. system_usage
C. components
D. number

Correct Answer: A

QUESTION 3

You are using USERO1 and modelling a calculation view that combines existing calculation views with tables belonging
to SCHEMAO2. You want to activate the new calculation view, but you get a User is NOT Authorized error.

What is the cause of the error?

Please choose the correct answer.

Response:

A. User _SYS_REPO is missing object privileges for SCHEMAO2.
B. The calculation view was created in the sap package.

C. USERO01 is missing object privileges for SCHEMAOQ?2.

D. The calculation view was created in the system-local package.

Correct Answer: C

C_HANATEC_17 PDF Dumps | C_HANATEC_17 VCE Dumps | C_HANATEC_17 Braindumps 2/3


https://www.geekcert.com/c_hanatec_17.html
https://www.geekcert.com/c_hanatec_17.html
https://www.geekcert.com/c_hanatec_17.html

VCE & PDF https://www.geekcert.com/c_hanatec_17.html
2024 Latest geekcert C_ HANATEC_17 PDF and VCE dumps Download

GeekCert.com

QUESTION 4

Which of the following statement is not true regarding SAP HANA Server Components? Please choose the correct
answer. Response:

A. The index server contains the actual data stores and the engines for processing the data
B. Index server is access by SAP HANA Cockpit with SQL queries

C. Web based tools can access the index server with simple HTTP request

D. XS Engine process the client application with HTTP request

Correct Answer: C

QUESTION 5

You needt to integrate an existing SAP HANA2.0 SPS05 database system into the SAP HANA cockpit monitor
infrastructure. Where do you create the technical user needed for the resource registration?

A. In the first tenant

B. In the SYSTEMDB and all tenants

C. In the SYSTEMDB and the first tenant
D. In the SYSTEMDB

Correct Answer: B
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